Klausurbesprechung

1.7, C=Q L , A / Ec o AF . U=Fed o
= OG{

A2 \\/ga# = L(If:/zgu.%f Al = %48 /%;[
[
=10 whGe g fap A= AL i 2

14 ak U= € of = 2,64 709V 6) 7T=f.7£ A,28 /[7"2/V
! ‘ 2)-—65’34 ’
) fQ=¢. £EA=70,¢( o) abv= = (0, - (055 Q)" ) =65215,

.9. a) ng; C-U =7, %+ ’([7-9 C y ¢
L o wid bdecn [ dd-ax) = Cud gafper = @ witigrmfe
AQ=8,~g, = U €.4 (1. — T)=lts a (c/'—w"“’))
o ol ol - o i)
':Q AX GZ AX .
© A-&x o (owa./ A~ A x ’«'-’.,O/,Wi 4/((<°/)
C) At=2,5 40‘4‘5/ AX =40, =D AQ = CEE  ap10 ¢ j‘—ﬁaz?fgc A
~ ™ AL e
"———> U4L:Rl:’3§1‘1]/

R

’{) A% j unz SyVl Llu-h






<--25.10.2012



